«5/12~14 IHN +5/19~21 &€

cBEICKDBIEEER I DHE

92628 03D0 202085EBFEBRAT Y1)l -owxe s DHEITRER
48 58 68 78 e o8 108 128 18 o8 38
o K| ABR |1 |® 1|18 1K 1| EEE | 1 | N st | 1| K| EEISR2 PN & SIFARE | 1| B| BFRIRE
98 | K| 2mren| 2 | 1| wome |2 |w o || 2z PR 2 [ o] 202 2 K + 2w
e 5 K 2| @] enows| 2 |B] B =[x T = || Z£52 [HfE gF= ||k
+| wEEe Nl B e P T AR Al - & a|® «|B| s | 4|~ QEPE | 4| A Fana
g W 2| wres 5 [k s|+| moee | s | 8| swae ||| nar [s|t] moe s s|&|522025] 5| &
8| swae [ +| e | o | 8| a6 & EEE s |« s | 2| waee DIEI o[ o| 1| mosme o | 1| mEzE
7] swae | 7 % g 7w 7|e 7|8 swae | 7|« 7|+| mmee | 7 | 8| swam | |A| ez
s| k| T202% [s|a s| 8| swae s |x R (g4 s | s|@ 5|8
o| K| 22 ot o [w o [ FEOE o |® o|B| BBz |9 |x o|t| mEEzg | o || .88 |eo|w
10| ngg%@gﬁ 10 K| HEBE |10|& K| FENE |1o|x| EEE [10|w 10[ K 10| K|, SS51  |10[2k
e 11| swaE [1|x 11| 1| s [11|u e HE BREERE + aaews [
12 W SE8IE (12|18 12 2K 12(t+ 12| B 12| A& 12|+ 12[ W 12| &, 00 |12
5|8 18] I 13| B 13|k z u| s | 1o 2| wessms IEETIN 1< a £ 8] £
1w 2777 || oz [EIEIR 4] x " 14 B o x| szl [ 2| BRED |14l e
15|k | 2222 15| & 15| 8 15[ 7k 15|+ 15| W 15| A 15 W 15| 15| 8 15| 8
16| A ggﬁfﬁféiﬁ 16|+ 16| W 16| A ‘|6 2K 16|48 16| B 167K 16|+ 16| W| FEBE |16l W
17| & %égg 17 K 17| FTHNH 171 8 17| KR 17| £ 17| W 17| KR 17 K 17| 72K
18]+ 189 18| A 18] +| BERE 15| w 18 18 X e 18| | sz [1s| A
EER < 10| 2| mazie PEQE 1o] 5k 1o+ N 10| & ez [ o] + 1o w| sz 10| 2 1|2
20| B 20| k| BFRAED |20+ 20| B 20| 7 20 B zolw| FwEO |20\ mERD 2o X + 20 + BHOH
21w| mam [ HE BNEETRE 21 8 wzos S E 21| x| 2204 PRlS 21 8
22| K 22|F 22| B T BERO [P EsDl=R 22| K W BEEEIR | 22| 2 I=|
oo\ &| ezl |20| | m7aER |20| W BHA 23 B 2a| & K + B
24(& 24 7K 24 & RiRk—vonB pZE N 24+ /N 8
25|+ 258 25| A W| sy — 25| & 25 7K 25| % 258 25| K| BRINZRRE|25| K| ERRTV
EE o6 | msaise [o] 2] 5—um= | ez [20] + " 26| & 26| 26| 26| 26| &
= 27| 7K 27|+ y/N 27 W /\o_m;i_ PUEAR Tt 27|+ 27|+
28 W 28| K 28 W 28(& 28( 8 287K 28|+ 288 28 K asré’(bé/u
20 7k BRNB B 20| B 29| 7k ool + 20| W oo| K| BFESE 2= BEOS A 20| B
30| &K 30|+ 30| W 30| K 30 7K 30| J=! 30| W
31 8 31|&E 318 31| 312K

HOFET




